
Big Idea of the Day--Consumption Function and Saving Function

I. Fixed Prices and Expenditure Plans

     A. In the very short run, prices are fixed and the aggregate amount that is sold depends only on the aggregate demand for goods and services. Therefore in this very short run, we must focus on what causes aggregate demand to fluctuate.

     B. The four components of aggregate expenditure — consumption expenditure, investment, government purchases of goods and services, and net exports — sum to real GDP.

     C. Aggregate planned expenditure equals planned consumption expenditure plus planned investment plus planned government purchases plus planned exports minus planned imports.

     D. A two-way link exists between aggregate expenditure and real GDP:


1. Planned consumption expenditure and planned imports depend on real GDP, so an increase in real GDP increases aggregate planned expenditure. 


2. An increase in aggregate expenditure increases real GDP.

     E. Consumption, C, depends on the real interest rate, purchasing power of assets minus debts, expected future income, and disposable income. Focus on disposable income because total disposable income and total consumption are related.

     F. The relationship between consumption expenditure and disposable income, holding everything else constant, is the consumption function. A consumption function is illustrated in Figure 29.1. 


1. The amount of consumption when disposable income equals zero ($1 trillion in the figure) is autonomous consumption. Consumption that exceeds this amount is “induced” by disposable income and is called induced consumption.
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2. When the consumption function is below the 45° line, saving is positive; when the consumption function is above the 45° line, saving is negative and is called “dissaving.” 


3. The (positive) relationship between saving and disposable income is the saving function.


4. The marginal propensity to consume (MPC) is the fraction of a change in disposable income spent on consumption; the marginal propensity to save (MPS) is the fraction of a change in disposable income saved. In terms of formulas,

MPC = 
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 and  MPS =
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means “change in.”


a) The MPC plus the MPS equals 1.0.



b) The MPC equals the slope of the consumption function.


5. When an influence other than disposable income changes — the real interest rate, expected future income, or the purchasing power of net assets — the consumption function and saving function shift.

6. Data for the United States show that the relationship between consumption and disposable income has shifted upward over time because economic growth has created higher expected future income. The estimated MPC is 0.75.

     G. In the short run, imports are influenced primarily by U.S. real GDP.


1. The import function shows the relationship between imports and U.S. GDP. A rise in U.S. GDP increases imports.


2. The marginal propensity to import is the fraction of an increase in real GDP spent on imports. It is probably a bit larger than 0.2.
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